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The Green Politics (Germany) 1s known to have the following pillars:

A. Ecological Wisdom
B. Free Trade

C. Social Justice

D. Grassroot democracy
E. Non-violence

Choose the correct answer from the options given below:

1. A. B and E only

| ]

.B. C and D only

L]

.A.B.CandD only

4. A.C.D and E only

Options:

4855843681. 1
4855843682. 2
4855843683. 3

4855843684. 4
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Options:

4855843681. 1
4855843682. 2
4855843683. 3
4855843684. 4
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Match Last I wath List IT

LISTT LISTIT
(Author) {Book)
A [Barry Commoner I [Turtle Island
B. |Garv Snvder II. [The Poverty of Power
C. [Rachel Carson ITT. |A Place on Earth
D |[Wendell Berry IV. |Silent Spring

Choose the correct answer from the options given below:

1. A-IIL. B-IV. C-1. D-II

-2

CA-IL B-IIIL C-IV, D-I
3. A-II. B-I. C-IV. D-III

4. A-IIL. B-1. C-IV. D-II

Options:

4855843685. 1
4855843686. 2
4855843687. 3

4855843688. 4
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CA-IL B-IIIL, C-IV, D-I

CA-IL B-IL C-IV, D-III

LS

o

CA-IL B-L C-IV. D-II

Options:

4855843685. 1
4855843686. 2
4855843687. 3
4855843688. 4
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A practice of reserving resources for future generations without cavsing harm to the nature and other
components of nature 15 a part of:

1. Deep Ecology
2. Shallow Ecology
3. Socialist Ecology

4. Sustainable Development

Options:

4855843689. 1
4855843690. 2
4855843691. 3
4855843692. 4
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4855843691. 3

4855843692. 4
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The National award m the name of Amrita Devi Bishnot 1s given in the field of:

1. Water Conservation

| ]

. Wildlife Conservation

g

. Solid waste management

4. Land Conservation

Options:

4855843693. 1
4855843694. 2
4855843695. 3
4855843696. 4
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4855843693. 1
4855843694. 2
4855843695. 3

4855843696. 4
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Greenpeace Organisation was founded in the year and in

1. 1971 and Canada.

[ ]

. 1975 and Germany.

. 1971 and United States of America

i

o

. 1975 and Switzerland.

Options:

4855843697. 1
4855843698. 2
4855843699. 3



4855843700. 4
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Options:

4855843697. 1
4855843698. 2
4855843699. 3
4855843700. 4
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Organism which can tolerate and thrive in a wide range of salinities are known as:

1. Stenohaline

(]

. Thermohaline

Ls]

. Euryhaline

e

. Oligohaline

Options:

4855843701. 1
4855843702. 2
4855843703. 3
4855843704. 4
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The statement Populations evolve in the habitat in which they live to maximise their reproductive fitness' is
representative of

1. Lamarkian fitness
2. Darwinian fitness
3. Mendalian fitness

4, Extreme fitness

Options :

4855843705. 1
4855843706. 2
4855843707. 3

4855843708. 4
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Options:

4855843705. 1
4855843706. 2
4855843707. 3

4855843708. 4
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Arrange the phases of logistics population growth form starting from 1 to last:

A, Plateau phase

B. Exponential phase

C. Positive Acceleration phase
D. Lag phase

E. Negative Acceleration phase

Choose the correct answer from the options given below:
1.C,B.DEBA
2:D;B, B, A C
%G AR B

4.D,C.B.E.A

Options:

4855843709. 1
4855843710. 2
4855843711. 3

4855843712. 4
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Options:

48558437009. 1
4855843710. 2
4855843711. 3
4855843712. 4
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Match Last I wath List IT

LIST1I LISTII
{Organisms) {(Interaction)
A [Fig tree and wasp I. |[Commensalism
B. |Orchid and mango II. [Parasitism
C. |Cuscutta and hedge III. Piutualism
D |Cow and grass IV. |Predation

Choose the correct answer from the options given below:

1. A-IV. B-1, C-II. D-III

{ ]

CA-IV, B-IIIL, C-I1L, D-I

CA-IIL B-LL C-II, D-IV

LIFY]

4. A-L B-IL, C-III. D-IV

Options:

4855843713. 1
4855843714. 2
4855843715. 3

4855843716. 4
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1. A-IV. B-1, C-II. D-III
2. A-IV, B-III, C-II. D-I
3. A-IIL B-LL C-IIL D-IV

4. A-L. B-1I. C-IIL. D-IV

Options:

4855843713. 1
4855843714. 2
4855843715. 3
4855843716. 4
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Arrange the following biomes in increasing order of mean annual precipitation.

A, Tropical forest
B. Grassland

C. Desert
D. Temperate forest

Choose the correct answer from the options given below:
1.C.B.D.A
2:C, D, ByA
3. DG, B

4: 0. C. A B

Options:

4855843717. 1
4855843718. 2
4855843719.3

4855843720. 4
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Options :

4855843717. 1
4855843718. 2
4855843719. 3
4855843720. 4
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Which of the following 1s not a part of 'In situ’ Biodiversity conservation?

1. Botanical gardens

[ ]

. Biosphere reserves

. National parks

Lia

4. Reserve forests



Options:

4855843721. 1
4855843722.2
4855843723.3
4855843724. 4

Question Number : 361 Question Id : 485584931 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
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4855843721. 1
4855843722, 2
4855843723. 3
4855843724. 4

Question Number : 362 Question Id : 485584932 Question Type : MCQ Option Shuffling : No Is
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Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Comprehension MCQ

Arrange the following in increasing order on the basis of total amount of energy consumed at each trophic
level per unit area per unit time:

A, Producer

B. Primary consumer
C. Secondary consumer
D, Tertiary consumer

Choose the correct answer from the options given below:
LLA<B<(C<D
2.C<D<B<A
3.D<C<B<A
4.D<C<A<B

Options:

4855843725. 1
4855843726. 2
4855843727.3
4855843728. 4

Question Number : 362 Question Id : 485584932 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
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Options:

4855843725. 1
4855843726. 2
4855843727. 3

4855843728. 4
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Which of the following gas 15 an indoor air pollutants?
1. Nitrogen dioxide

. Radon

[ ]

. Sulfur dioxide

Lia

4. Carbon dioxide

Options:

4855843729. 1
4855843730. 2
4855843731. 3

4855843732. 4

Question Number : 363 Question Id : 485584933 Question Type : MCQ Option Shuffling : No Is
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Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
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4855843729. 1
4855843730. 2
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4855843732. 4
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The acceptable range of pH in drinking water as per Bureau of Indian Standards 1s:

1.7.0t0 9.0

(]

.6.5t0 8.5

.85t 7.5

L)

4.6.0t0 8.0

Options:

4855843733. 1
4855843734, 2
4855843735. 3

4855843736. 4
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Options:

4855843733. 1
4855843734. 2
4855843735. 3

4855843736. 4
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Which of the following are responsible for eutrophication in water bodies?
1. Calemum and magnesium

. Calcium and phosphorous

[ ]

. Nitrogen and phosphorous

L]

4. Caleium and nitrogen

Options:

4855843737. 1
4855843738. 2
4855843739. 3



4855843740. 4

Question Number : 365 Question Id : 485584935 Question Type : MCQ Option Shuffling : No Is
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Options:

4855843737. 1
4855843738. 2
4855843739. 3
4855843740. 4
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Match Last I wath List IT

LISTI LISTII
Environmental accidents Year
A |Chernobyl nuclear disaster I. J1948
E. [Bhopal Gas Tragedy II. J1952
C. [Donora air pollution IT1. 1984
D |The great smog of London IV, |1986

Choose the correct answer from the options given below:
1. A-IIL. B-IV, C-L. D-II
2. A-IL. B-IV, C-I, D-III

CA-IV, B-IILL C-1L D-II

LIFY]

4. A-L B-IL. C-IV, D-III

Options:

4855843741. 1
4855843742. 2
4855843743. 3
4855843744. 4

Question Number : 366 Question Id : 485584936 Question Type : MCQ Option Shuffling : No Is
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2. A-II. B-IV. C-I, D-III
3. A-IV. B-III. C-I, D-II

4. A-L. B-1I. C-IV, D-III

Options:

4855843741. 1
4855843742, 2
4855843743. 3
4855843744, 4
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Particle size of the medium 'Sand' lies between:

1.025-0.10 mm

[ ]

050 -0.25 mm

. 1.00 - 0.50 mm

Lia

o

. 0.10 - 0.05 mm

Options:

4855843745. 1
4855843746. 2
4855843747.3

4855843748. 4

Question Number : 367 Question Id : 485584937 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1
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Options:

4855843745. 1
4855843746. 2
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4855843748. 4

Question Number : 368 Question Id : 485584938 Question Type : MCQ Option Shuffling : No Is
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Correct Marks : 5 Wrong Marks : 1
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Comprehension MCQ

Arrange the biotic and abiotic components of aquatic food chamn on the basis of biomagnification of DDT.

A. Fish eating birds
B. Water

C, Large fish

D. Zooplankton

E. Small fish

Choose the correct answer from the options given below:
1.B,D,C,E.A
2.4,CBED
3.A;CE B.D

4B.D.E.C.A

Options:

4855843749. 1
4855843750. 2
4855843751. 3
4855843752. 4

Question Number : 368 Question Id : 485584938 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Options:

4855843749. 1
4855843750. 2
4855843751.3

4855843752. 4
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Which of the following measurement 1s equivalent to 100 ppb?

1.1 ppm

[ ]

.10 mg/L

s

. 0.1 ppm

4. 1mglL

Options:

4855843753. 1
4855843754. 2
4855843755. 3
4855843756. 4
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foafafaa & 9 19 91 919 100 didist & a&) 87
1. 1 didiun
. 10 Toredt g/l

3.0.1 didiug
4. 1 Toredt gt

[

Options:

4855843753. 1
4855843754, 2
4855843755. 3



4855843756. 4

Question Number : 370 Question Id : 485584940 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Legume crops enrich the soil fertility by:

1. Potassium fixation

[ ]

. Phosphorous fixation

. Nitrogen fixation

L]

o

. Sulphur fixation

Options:

4855843757. 1
4855843758. 2
4855843759. 3
4855843760. 4

Question Number : 370 Question Id : 485584940 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:

4855843757. 1
4855843758. 2
4855843759. 3

4855843760. 4

Question Number : 371 Question Id : 485584941 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

High concentration of Nitrate in drinking water can cause.

A. Minamata disease
B. Blue baby syndrome disease
C. Itai-Itai disease
D. Methaemoglobinemia disease
Choose the correct answer from the options given below:
1. Aand D only
2. Band D only
3. Aand C only

4. B and C only



Options:

4855843761. 1
4855843762. 2
4855843763. 3

4855843764. 4

Question Number : 371 Question Id : 485584941 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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1. Fda A IRD
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3. HATdA AR C
4. HIAB IR C

Options:

4855843761, 1

4855843762. 2

4855843763. 3

4855843764. 4




Question Number : 372 Question Id : 485584942 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Which one of the following theory talks of labour flow from low wage areas to high wage area due to
geographic labour demand and supply?

1. The New Economics of Labour Migration Theory
2. Dual Labour Market Theory
3. World System Theory

4. Neoclassical Economic Theory

Options:

4855843765. 1
4855843766. 2
4855843767. 3
4855843768. 4

Question Number : 372 Question Id : 485584942 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:

4855843765. 1
4855843766. 2
4855843767. 3
4855843768. 4

Question Number : 373 Question Id : 485584943 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Which of the following 1s not a push factor for human migration?

1. Lack of jobs

[ ]

. Crvil war

. Political stability

Lia

4. Natural calamities

Options:
4855843769. 1

4855843770. 2



4855843771. 3

4855843772. 4

Question Number : 373 Question Id : 485584943 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:

4855843769. 1
4855843770. 2
4855843771. 3

4855843772. 4

Question Number : 374 Question Id : 485584944 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




The acronym "OECD" stands for:

1. Organisation for Energy Cooperation and Development

[ R

. Organisation for Economic Cooperation and Development

s

. Organisation for Environmental Cooperation and Development

4. Organisation for Entrepreneurship Cooperation and Development

Options:

4855843773. 1
4855843774. 2
4855843775.3
4855843776. 4

Question Number : 374 Question Id : 485584944 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

"OECD" @I fa&jd ¥U &:
1. Organisation for Energy Cooperation and Development

2. Organisation for Economic Cooperation and Development

(%]

. Organisation for Environmental Cooperation and Development

4. Organisation for Entrepreneurship Cooperation and Development

Options:

4855843773. 1
4855843774. 2
4855843775. 3



4855843776. 4

Question Number : 375 Question Id : 485584945 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Secondary treatment of sewage water:

A. Removes solid particles and debris

B. Removes dissolved and suspended biological matter
C. Invelves conventional sedunentation and filteration
D. Reduces the bio-chemical oxygen demand of water

E. Increases the bio-chemical oxygen demand of water.

Choose the correct answer from the options given below:

1. A. B and D only

| ]

.Band E only

L]

.B and D only

4. A. C and E only

Options:

4855843777. 1
4855843778. 2
4855843779. 3
4855843780. 4

Question Number : 375 Question Id : 485584945 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value

Comprehension MCQ
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Options:

4855843777. 1
4855843778. 2
4855843779. 3

4855843780. 4

Question Number : 376 Question Id : 485584946 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Which one of the following 1s Non-thermal technology for 'waste to energy’ conversion?

1. Pyrolysis

[ ]

. Mechanical biological treatment

. Thermal depolymerisation

L]

4. Plasma arc gasification

Options:

4855843781. 1
4855843782. 2
4855843783. 3
4855843784. 4

Question Number : 376 Question Id : 485584946 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:

4855843781. 1
4855843782. 2
4855843783. 3



4855843784. 4

Question Number : 377 Question Id : 485584947 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Sarvodaya movement was intended to promote self-sufficiency amongst India's rural population by:

A. Encouraging land distribution
B. Centralized governance

C. Secio-econome reform

D. Promoting large industries

E. Promoting cottage industries

Choose the correct answer from the options given below:
1. A, Band E only
2. A, Cand E only
3.B.Dand C only

4.A. Dand C only

Options:

4855843785. 1
4855843786. 2
4855843787. 3
4855843788. 4

Question Number : 377 Question Id : 485584947 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value

Comprehension MCQ
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Options:

4855843785. 1
4855843786. 2
4855843787.3

4855843788. 4

Question Number : 378 Question Id : 485584948 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Report of World Commission of Environment and Development (WCED) 1s known as:
1. United Nation Report
2. World Commission Report
3. Brundtland Report

4. Sustainable Development Report

Options:

4855843789. 1
4855843790. 2
4855843791. 3
4855843792. 4

Question Number : 378 Question Id : 485584948 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

qgiaRul 3R 9Py W [y S (WCED) &1 RUIE & oiF1 oifdl 6:

1. g g RO 9
2. fay smam Ui 9
3. geds RO ¥
4. Fad faerg Rard 9
Options :
4855843789, 1

4855843790. 2
4855843791. 3



4855843792. 4

Question Number : 379 Question Id : 485584949 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

A rainwater harvesting practice to collect water flowing from glaciers in Laddakh 1s called as:
1. Pynes
2. Zings
3. Katts
4. Khadms

Options:

4855843793. 1
4855843794, 2
4855843795. 3

4855843796. 4

Question Number : 379 Question Id : 485584949 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:

4855843793. 1
4855843794. 2
4855843795. 3

4855843796. 4

Question Number : 380 Question Id : 485584950 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Which of the following 1s not a basic element of green revolution?

1. Use of native variety of crop

[ R

. Expansion of existing farmland

. Double cropping m existing farmland

Lia

4. Use of high yield variety (HYV)

Options:
4855843797. 1

4855843798. 2



4855843799. 3

4855843800. 4

Question Number : 380 Question Id : 485584950 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:

4855843797. 1
4855843798. 2
4855843799. 3

4855843800. 4

Question Number : 381 Question Id : 485584951 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




The cropping season of Zaid crop 1s:

=

. July - September months

[ ]

. October - December months

. January - March months

s

e

. April - June months

Options:

4855843801. 1
4855843802. 2
4855843803. 3
4855843804. 4

Question Number : 381 Question Id : 485584951 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Sl I B DI B BId o
1. Jis-Ryder HgH
2. faeaR-fearR HelH
3. SHGL-ATE HEH
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Options:
4855843801. 1
4855843802. 2

4855843803. 3



4855843804. 4

Question Number : 382 Question Id : 485584952 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

The slash and burn agriculture (shifting cultivation) practised 1n Indonesia and Malaysia 1s referred to as
1. Thuming
2. Ladang
3. Milpa

4. Nadig

Options:

4855843805. 1
4855843806. 2
4855843807. 3
4855843808. 4

Question Number : 382 Question Id : 485584952 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:

4855843805. 1
4855843806. 2
4855843807. 3
4855843808. 4

Question Number : 383 Question Id : 485584953 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

In context of food security, the factors responsible for food erisis and merease in prices of food grams are:

A. Global population boom
B. Climate change
C. Increased farming of biofuels and non-edible items
D. Sustainable agricultural practices
Choose the correct answer from the options given below:
1. A.Band C only
2. A. Cand D only
3.B.Cand D only

4.A B.Cand D only



Options:

48558438009. 1
4855843810. 2
4855843811.3
4855843812. 4

Question Number : 383 Question Id : 485584953 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options :

4855843809. 1
4855843810. 2
4855843811. 3
4855843812. 4



Question Number : 384 Question Id : 485584954 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Following 1s NOT a characteristics of 'Resource' in Environmental Economies:

1. Utility

[ )

. Limited availability

L]

. Consumption

e

. Unlimited abundance

Options :

4855843813. 1
4855843814. 2
4855843815. 3
4855843816. 4

Question Number : 384 Question Id : 485584954 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:

4855843813. 1
4855843814. 2
4855843815. 3
4855843816. 4

Question Number : 385 Question Id : 485584955 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

The natural reservoir of phosphorous in soils/sediments 1s:

1. Ocean

[ ]

-

. Rocks

Lia

4. Plants

Options :

4855843817. 1
4855843818. 2
4855843819. 3



4855843820. 4

Question Number : 385 Question Id : 485584955 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

fFrafeRad ¥ 9 o F Mglaase 3 BRORY @1 UPidd HUSR §
1. 9%
2.9
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Options:

4855843817. 1
4855843818. 2
4855843819. 3
4855843820. 4

Question Number : 386 Question Id : 485584956 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




'Shifting to electrical vehicles will reduce emissions of greenhouse gases, This statement 15 an example of:
1. Negative Production Externality
2. Positive Production Externality
3. Negative Consumption Externality

4. Positive Consumption Externality

Options:

4855843821. 1
4855843822. 2
4855843823.3
4855843824. 4

Question Number : 386 Question Id : 485584956 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:

4855843821. 1

4855843822. 2

4855843823. 3



4855843824. 4

Question Number : 387 Question Id : 485584957 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

The world's stock of natural resources which creates long supply of goods and services is referred to as
1. Human capital
2. Social capital
3. Natural capital

4. Manufacturing capital

Options:

4855843825. 1
4855843826. 2
4855843827. 3
4855843828. 4

Question Number : 387 Question Id : 485584957 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options :

4855843825. 1
4855843826. 2
4855843827. 3
4855843828. 4

Question Number : 388 Question Id : 485584958 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

'The systematic approach to estimate the strength and weakness of actvities or functional requirement
considering both direct and indirect values' 1s known ag:

1. Cost Benefit Analysis

2. Risk Benefit Analysis

3. Integrated Benefit Analysis

4. Relatrve Cost Assesment
Options:

4855843829. 1

4855843830. 2



4855843831. 3

4855843832. 4

Question Number : 388 Question Id : 485584958 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:

4855843829. 1
4855843830. 2
4855843831. 3

4855843832. 4

Question Number : 389 Question Id : 485584959 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Most of the weather related phenomena on Earth's surface takes place in:

1. Troposphere

[ ]

. Stratosphere

s

. Mesosphere

e

. Theromsphere

Options:

4855843833. 1
4855843834. 2
4855843835. 3
4855843836. 4

Question Number : 389 Question Id : 485584959 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options :
4855843833, 1

4855843834. 2
4855843835. 3



4855843836. 4

Question Number : 390 Question Id : 485584960 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Match List T with List IT

; " .[ . LISTII
Convention / Obiective
Protocol ]

A The Bamako I To Fc-ntrol international exportation of
[foxic waste

B IThe Basel I R-Edu-::_mg production and usage of ozone
depletion substances

. Kvoto 1L Eag on 1mport of hazardous waste into

- A frica
D. PMontreal IV. [Reduction in Green-house gases emissions

Choose the correct answer from the options given below:

1. A-I. B-IL. C-IV, D-III

[ ]

CA-IL BAIILL C-1L D-IV

CA-IV, B-ILL C-II1, D-I

LIF¥]

4. A-IIL. B-1. C-IV. D-II

Options:

4855843837. 1
4855843838. 2
4855843839. 3

4855843840. 4
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Read the following passage and answer the questions.

Lakes and river systems are separated from each other by barriers of land. It might have been thought that
fresh water productions would not have ranged widely within the same country, and as the sea 1s apparently a
still more impassable barrier, that they never would have extended to distant countries. But the case 15 exactly
the reverse. Not only have fresh-water species. belongme to quite different classes. an enormous range, but
allied species have also prevailed in a remarkable manner throughout the world. I well remember, while first
collecting the fresh-waters of Brazil. feeling much surprise at the sinularity of the fresh-water msects, shells.
ete and at the dissimilarity of the surrounding tertestrial bemngs, compared with those of Britain,

The author seems to be surprised often comparing certain speeies of which of the following two regions?
1. India and Britam
2. Brazil and India
3. Britam and Brazil

4. Brazil and Canada

Options:

4855843841. 1
4855843842. 2
4855843843. 3

4855843844. 4
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Read the following passage and answer the questions.

Lakes and river systems are separated from each other by barriers of land. It might have been thought that
fresh water productions would not have ranged widely within the same country, and as the sea 1s apparently a
still more impassable barrier, that they never would have extended to distant countries. But the case 15 exactly
the reverse. Not only have fresh-water spectes. belonging to quite different clagses. an enormous range, but
allied species have also prevailed i a remarkable manner throughout the world. I well remember, while first
collecting the fresh-waters of Brazil. feeling much surprise at the sinularity of the fresh-water msects, shells.
ete and at the dissimilarity of the surrounding tertestrial bemngs, compared with those of Britain,

Which of the following conclusions has the author drawn?

1. There is less variation in biodiversity of fresh-water species

[ ]

. Biodiversity of fresh-water species 1s greater than that of marine species

Lia

. Biodiversity 1s greater n lakes as compared to river systems

4. There 1s a wide variation in biodiversity of fresh water species

Options:

4855843845. 1
4855843846. 2
4855843847. 3
4855843848. 4
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Read the following passage and answer the questions.

Lakes and river systems are separated from each other by barriers of land. It might have been thought that
fresh water productions would not have ranged widely within the same country, and as the sea 1s apparently a
still more impassable barrier, that they never would have extended to distant countries. But the case 15 exactly
the reverse. Not only have fresh-water spectes. belonging to quite different clagses. an enormous range, but
allied species have also prevailed i a remarkable manner throughout the world. I well remember, while first
collecting the fresh-waters of Brazil. feeling much surprise at the sinularity of the fresh-water msects, shells.
ete and at the dissimilarity of the surrounding tertestrial bemngs, compared with those of Britain,

Which of the following species. the author most likely studied as per the given passage?

1. Insects

[ ]

. Blue whale

. Star fish

L% ]

4. Wrasses

Options :

4855843849. 1
4855843850. 2
4855843851. 3
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Read the following passage and answer the questions.

Lakes and river systems are separated from each other by barriers of land. It might have been thought that
fresh water productions would not have ranged widely within the same country, and as the sea 1s apparently a
still more impassable barrier, that they never would have extended to distant countries. But the case 15 exactly
the reverse. Not only have fresh-water spectes. belonging to quite different clagses. an enormous range, but
allied species have also prevailed i a remarkable manner throughout the world. I well remember, while first
collecting the fresh-waters of Brazil. feeling much surprise at the sinularity of the fresh-water msects, shells.
ete and at the dissimilarity of the surrounding tertestrial bemngs, compared with those of Britain,

Which of the following has been cited i the passage as a possible reason to support the hypothesis of narrow
range of fresh water species biodiversity?

1. Over hunting
2. Sexual ncompatibility
3. Water pollution

4. Sea barrter

Options:

4855843853. 1
4855843854. 2
4855843855. 3
4855843856. 4
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Read the following passage and answer the questions.

Lakes and river systems are separated from each other by barriers of land. It might have been thought that
fresh water productions would not have ranged widely within the same country, and as the sea 1s apparently a
still more impassable barrier, that they never would have extended to distant countries. But the case 15 exactly
the reverse. Not only have fresh-water spectes. belonging to quite different clagses. an enormous range, but
allied species have also prevailed i a remarkable manner throughout the world. I well remember, while first
collecting the fresh-waters of Brazil. feeling much surprise at the sinularity of the fresh-water msects, shells.
ete and at the dissimilarity of the surrounding tertestrial bemngs, compared with those of Britain,

Which of the following captures the essence of the given passage most appropriately?

1. Water pollution

[

. Biodiversity
3. Fisheries

4. Aqua-culture

Options:

4855843857. 1
4855843858. 2
4855843859. 3
4855843860. 4
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Comprehension Comp2

Read the following passage and answer the questions.

The global average surface temperature has mcrease by approximately 0.8° C over the last century. Many
countries have experienced icrease m raifall, particularly in those situated in the mid to high latitudes. In
some regions, the frequency and wtensity of droughts have increased m recent decades. All these are signs of
climate change, which making 1t more difficult for mankind survival. Projections of future climate change
have predicted that the global mean surface temperature will rise by 14° C to 5.8° C. The frequency of
weather extremes 1s likely to increase. Global mean sea level 1s projected to rise by 9 to 88 em by the year
2100. Changes in climate may affect the distribution of vector species which i turn will increase the spread of
diseases, such as malaria and filariasis, to new areas which lack a strong public health imfrastructure.

Present day problem of climate change 1s NOT primarily due to:
1. Inerease in biomass burning
2. Increase in fossil fuel combustion

. Increase in voleanic activities

s

4. Increase in greenhouse gas emissions

Options:
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Read the following passage and answer the questions.

The global average surface temperature has increase by approximately 0.8° C over the last century. Many
countries have experienced increase i ramfall, particularly in those situated i the mid to high latitudes. In
some regions, the frequency and intensity of droughts have increased  recent decades. All these are signs of
climate change, which making 1t more difficult for mankind survival. Projections of future climate change
have predicted that the global mean surface temperature will rise by 14° C to 5.8° C. The frequency of
weather extremes 1s likely to increase. Global mean sea level is projected to rise by 9 to 88 em by the year
2100. Changes i clmate may affect the distribution of vector species which i turn will increase the spread of
diseases. such as malaria and filariasis, to new areas which lack a strong public health imfrastructure.

Climate change related impacts could lead to:

1. Better life standard in developing countries

[ R

. Sustained economic development

s

. Displacement of a large people

4. Decrease 1n the spread of diseases

Options:
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Read the following passage and answer the questions.

The global average surface temperature has merease by approximately 0.8° C over the last century. Many
countries have experienced increase in ramfall, particularly in those situated in the mid to high latitudes. In
some regions, the frequency and mtensity of droughts have mereased i recent decades. All these are signs of
climate change, which making 1t more difficult for mankind survival. Projections of future climate change
have predicted that the global mean surface temperature will rise by 1.4° C to 5.8° C. The frequency of
weather extremes 1s likely to inerease. Global mean sea level 1s projected to rise by 9 to 88 em by the year
2100. Changes i climate may affect the distribution of vector species which m turn will increase the spread of
diseases, such as malaria and filariasis, to new areas which lack a strong public health mfrastructure.

Which of the following gases contribute maximally to global warming?

1.N,0

| o]

. CFCs

. CO,

(%]

4.0,

Options :
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2. CFCs
3.CO,

4.0

3

Options:

4855843869. 1
4855843870. 2
4855843871. 3

4855843872. 4

Question Number : 399 Question Id : 485584969 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2




Read the following passage and answer the questions.

The global average surface temperature has increase by approximately 0.8° C over the last century. Many
countries have experienced increase i ramfall, particularly in those situated i the mid to high latitudes. In
some regions, the frequency and intensity of droughts have increased  recent decades. All these are signs of
climate change, which making 1t more difficult for mankind survival. Projections of future climate change
have predicted that the global mean surface temperature will rise by 14° C to 5.8° C. The frequency of
weather extremes 1s likely to increase. Global mean sea level is projected to rise by 9 to 88 em by the year
2100. Changes i clmate may affect the distribution of vector species which i turn will increase the spread of
diseases. such as malaria and filariasis, to new areas which lack a strong public health imfrastructure.

Which of the following gas 18 NOT responsible for anthropogenie global warming?

1.CO,

| S

.CH,
3.NO,

4.N,0

Options:
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Read the following passage and answer the questions.

The global average surface temperature has increase by approximately 0.8° C over the last century. Many
countries have experienced increase i ramfall, particularly in those situated i the mid to high latitudes. In
some regions, the frequency and intensity of droughts have increased  recent decades. All these are signs of
climate change, which making 1t more difficult for mankind survival. Projections of future climate change
have predicted that the global mean surface temperature will rise by 14° C to 5.8° C. The frequency of
weather extremes 1s likely to increase. Global mean sea level is projected to rise by 9 to 88 em by the year
2100. Changes i clmate may affect the distribution of vector species which i turn will increase the spread of
diseases. such as malaria and filariasis, to new areas which lack a strong public health imfrastructure.

Climate change does NOT lead to:

1. Salt water mntrusion in coastal aquifer

[ R

. Geopolitical dispute

s

. Spread of vector-borne diseases

4. Inerease in solar activity of sun

Options:
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Which of the following statements are correct?

A. Exception Handling can be done for only user-defined exceptions but not for built-in exceptions.

B. In python exception handling, else clause is optional.

C. Try statement i python must have a finally clause.

D. Statements in finally clause are always executed regardless of whether an exception has oceured in try
block or not.

E. Except block will be executed only if some exception s raised i try block.

Choose the correct answer from the options given below:
1. A, Band D only
2.DandE only
3.C.D and E only

4.B.Dand E only

Options:

4855846101. 1
4855846102. 2
4855846103. 3
4855846104. 4
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18 raised when the index in a sequence 1s out of range.

1. ImportError

| B

. IndexError

L]

. TypeError

4. EOFError

Options:

4855846105. 1
4855846106. 2
4855846107. 3

4855846108. 4

Question Number : 402 Question Id : 4855841527 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ1

Iodl & Od 5o dg HH § T3¢ HIH I9 el 6l

1. ImportError
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. IndexError

L]

. TypeError

4, EOFErmror
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seek(1) method n files used for

1. Sets the file's current position at the offset

| ]

. Sets the file's previous position at the offset
3. Sets the file's current position within the file

4. Tells you the file is opened or not

Options:
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Which of the following statements are true with respect to append <a> mode?

A. The user can read the file in <a> mode.

B. If the file 15 opened 1n <a> mode and the file doesn't exist, then it will create a new file.
C. The user can write at the end of existmg file when file 1s opened i <a> mode.

D. <a> mode 1s the default mode

E. If the file 15 opened in <a> mode, the file offset position returned in the End of the file.

Choose the correct answer from the options given below:
1. A. B and C only
2.A.B.Cand E only
3.A.Band D only

4.B. C and E only

Options:

4855846113. 1
4855846114. 2
4855846115. 3

4855846116. 4
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Database schema is the of a databse.

1. Application

[ ]

. Design

. Use case

s

4. Testing

Options:
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Consider the following relation:

STUDENT

[RollNumber [Name [Class  [DateofBirth [Address

What should be the primary key for relation STUDENT?

1. Class

| ]

. RollNumber

. DateofBirth

(5]

iy

cAddress

Options :

4855846121. 1
4855846122. 2
4855846123. 3
4855846124. 4
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STUDENT
[RollNumber [Name  |Class  [DateofBirth [Address
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1. Class
2. RollNumber
3. DateofBirth

4. Address

Options:
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Consider the following statements relating to database:

A. Composite primary key 1s used to represent the relationship between two relations.
B. A foreign key 15 used to represent the relationship between two relations.
C. The tuples within a relation must be distinet.

1. B and C are false
2. A and B are false
3.B and C are true

4, A and C are true

Options:

4855846125. 1
4855846126. 2
4855846127. 3

4855846128. 4
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Give output of:
Select Round (765.3895, 2)
will return:

1. 765.38

2

. 765.30

. 765.00

fad

4. 765.39

Options :

4855846129. 1
4855846130. 2
4855846131. 3
4855846132. 4
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Select Round (765.3895, 2)

?B—CTQTIT:

1.765.38
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. 765.30
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Vardan was asked by his teacher the meaning of the following command. He 1s not able to decide on the
correct answer. Help him in selecting the correct answer.

Select * from stud where admn like '%5%5%"; 7
1. admn begins with two 55
2. admn has two 5s 1n 1t at any position

. admn ends with two 5¢

L=

4. admn should have more than two 55

Options:

4855846133. 1
4855846134. 2
4855846135. 3

4855846136. 4
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Select * from stud where admn like "%65%5%'; ?
1. admn &1 5 HE{FWE{
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Let us consider two relations HISTORY and SCIENCE as depicted i the following Tables 1 and 2
respectively.

Table I HISTORY

SNo  [NAME CLASS
1 MOHAN 6A
2 SANJAY 65
3 YOGESH TA

Table2 SCIENCE

SNo  [NAME CLASS
l INARESH 6B
H SANJAY 6B
3 YOGESH TA

What 1s the output of HISTORY-SCIENCE?

1. N0 [NAME CLASS
1 MOHAN bA
7 SN0  INAME CLASS
| MOHAN 6A
B SANJAY 6B
3 'YOGESH i
3 [SNo  INAME CLASS
| INARESH 6B
2 SANJAY 6B
3 'YOGESH TA
4 SN0 [NAME CLASS
1 INARESH 6B
Options:

4855846137. 1
4855846138. 2
4855846139. 3
4855846140. 4
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31 def HISTORY 3R SCIENCE W foaR & o {3 Fgfofea afoe 1 iR afoer 2 # sufum gl

Table 1 HISTORY
SNo  [NAME CLASS
1 MOHAN bA
2 SANJAY 6B
3 YOGESH 1A
Table2 SCIENCE
SNo  [NAME CLASS
1 INARESH 6B
2 SANJAY 6B
3 YOGESH 1A
HISTORY-SCIENCE @1 Sfi3cYc i %?
1 [fNo  NAME CLASS
1 MOHAN bA
> fNo  [NAME CLASS
| MOHAN 6A
2 SANJAY 6B
3 YOGESH ]
3 [fNo  [NAME CLASS
1 INARESH 6B
2 SANJAY 6B
3 YOGESH ]
4 [No  [NAME CLASS
| INARESH 6B
Options :

4855846137. 1

4855846138. 2

4855846139. 3

4855846140. 4
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Match Last I with List IT

LISTI LISTII
A JAlter I. |Change the name of the column
EB. [Update II. |Create a database
C. Delete [I1. [Update existing information in a table
D. |Create IV, [Delete an existing row from table

Choose the correct answer from the options given below:

1. A-III. B-II. C-I, D-IV

| ]

CA-IL B-IIIL, C-IL D-IV

CA-L B-IIL C-IL, D-IV

(Y]

4. A-L. B-IIL. C-IV. D-II

Options:

4855846141. 1
4855846142. 2
4855846143. 3

4855846144. 4

Question Number : 411 Question Id : 4855841536 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value




Comprehension MCQ1

Tt 1 &1 Il 1 F e &)
il eilT
A [Alter I [@lqd ®1TE dcadi gl
B. [Update 1L [EeEg gara &
C. [Delete 1L [qTie7ehT H GdiHied a1 &1 HUSC Hal g
D. [Create IV Hﬁﬁ‘%ﬁﬂﬁﬁﬁﬂ%ﬁ@fﬂ?ﬁﬁl
4 o 9ol 9 9e! SR 7|

1. A-IIL B-I1. C-1. D-IV

| ]
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The is the largest WAN that connects billions of computers, smartphones and millions of LAN
from different Continents.

1. Internet
2. Intranet
3. Subnet

4. Supernet

Options:

4855846145. 1
4855846146. 2
4855846147. 3
4855846148. 4
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Who invented the WWW?

1. Berners Lee

[ ]

. Charls Lee

. Bill Gate

L]

4. Donald Smith

Options:
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Consider the following statements relating to network device repeater;

A. It is an analog device.
B. It regenerates the received signals.
C. It enables signals to travel longer distances over a network.

Choose the correct answer from the options given below:

1. A 1s false

[

. B 1s false

CAlLA. B and C are true

L]

4. A 1s true and B 1s false.

Options:
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Which of the following 1s a network deviece?
1. Laptop
2. Repeater

. Monitor

s

4. Printer

Options:
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Question Number : 415 Question Id : 4855841540 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ1




faffTd oo Gcanh g3 a2

1. ¥Uerg
2. fifuex
3, HifHex
4. e

Options:

4855846157. 1

4855846158. 2

4855846159. 3

4855846160. 4


Free Hand


